www.CertBus.comi <2 https://www.certbus.com/1z0-419.html
CE RT ni1i1c NFY 2024 Latest certbus 170-419 PDF and VCE dumps Download

170-4190%As

Implementation Application Development Framework

Pass Oracle 1Z20-419 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.certbus.com/1z0-419.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-419 VCE Dumps | 1Z20-419 Study Guide | 1Z20-419 Exam Questions 1/5


https://www.certbus.com/1z0-419.html
https://www.certbus.com/1z0-419.html
https://www.certbus.com/1z0-419.html

www.CertBus.com https://www.certbus.com/1z0-419.html
CE RTBUS 2024 Latest certbus 170-419 PDF and VCE dumps Download

QUESTION 1

Which two statements ate true about a dvt:gauge component? (Choose two.)

A. dvtthresholdSet with dvtthreshold tags can be used to define ranges of data and coloring for a gauge
B. The style of the dial in a dial gauge is fixed

C. A gauge component can render as a vertical status meter.

D. Gauge data range must start from 0.

Correct Answer: AC

QUESTION 2

Which two statements are true about the Key Exists validator? (Choose two.)

A. it always issues a select to the database to ensure all data is up to date.

B. it first checks the cache for match and then goes to the database only if necessary.

C. it cannot validate any data changes that happened in the current transaction that have not yet been committed to the
database.

D. it can validate any data changes that happened in the current transaction that have not yet been committed to the
database.

E. it can be used only with attributes that are defined as primary keys in the database.

Correct Answer: BD

QUESTION 3
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Which three options are true about the scenario in the Exhibit? (Choose three)
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A. Two separate view object instances allow you, at run time, to maintain two separate current row indicators on each
instance respectively, to display separate records at the same time.

B. Two separate view object instances defined through the same application module create separate entity object
caches, allowing users to modify records in their own independent transactions.

C. Two separate view object instances exposed through the application module allow you to apply separate view criteria
and bind variable values to show separate result sets.

D. Under the relating AppModuleDataControl in the JDeveloper Data Controls window, each view object instance
appears as a separate selectable data collection

E. ADF Faces restricts developers from using the same view object instance across pages, so developers at design
time must create multiple separate view object instances.

Correct Answer: ACD

QUESTION 4

Which code sample is the recommended way to override the createQ method in Employeesimpl, an implementation of
oracle.jbo.serverEntitylrnpl for the Employee?

A. protected void create(AttributeList attributeList) { SetAttributelnternal (SALARY, 0); super.create (attributeList); }
B. protected void create(AttributeList attributeList) { super create(attnbuteList), setAttributelntemalC\WSALARY", 0);]
C. protected void create(AttributeList attributeList) { super create(attributeList); setSalary(O); }

D. protected void create(Attributel_ist attributeList) { setSalary(O);}

Correct Answer: B

QUESTION 5

Which option represents the expression you would use to determine if a user belongs to the administrator role? (Choose
the best answer.)

A. #{securityContext.userinRolefadministrator\\'|}

B. adf.context.securityContext.role.administrator

C. #{securityContextuserGrantedResource [administratorl]}
D. sfadfSecurity.userinRolefadministrator\\']}

E. adf.context.secuhtyContext.userlnRole.administrator

Correct Answer: D

QUESTION 6
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Consider the JSF managed bean code to execute a function in ADF Business Components via an
af:button actionListener on a page:

public void doSomething(ActionEvent event) {

BindingContainer bindings = BindingContext getCurrent() getCurrentBindingsEntry(); OperationMethod
method = bindings.getOperationBinding

("appModuleMethod");

Map paramsMap = method. getParamsMap();

paramsMap put CsomeParameter”,"someValue");

method.execute();

}

Which three options must be implemented for this code to work? (Choose three.)

A. For the page definition file this code is called from, it must have a binding mapped to the ADF BC data control
application module function

B. For the page definition file this code is called from, it must have a binding mapped to the parameters of the ADF BC
data control application module function.

C. An appModuleMethod function must exist in the ADF BC application module to call from the binding.

D. An appModuleMethod function must be exposed through the client interface editor of the ADF BC application
module.

Correct Answer: ABC

QUESTION 7

During design time, you define two root application modules, each with a single view object. At run time, you have a
single page exposing each view object as a separate table on the same page. Three users access the page at run time
simultaneously

Disregarding application module pooling, how many application module instances are instantiated to serve the three
users at run time? (Choose the best answer.)

A.0

B.1

E.6

Correct Answer: E
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QUESTION 8

Consider the validation code in a Shipping entity object that is designed to ensure that the date ordered is
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